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S7-3180 |5V Th—h—A@7-) 2300 | 2550 |[DC—-1633 |k Ly afukhn —(a7—) 990 1.250
S7-3185 __|5v 15—h—A@M7-) 3.150 | 3.500 |[DC—-1634 |k Ly afukhn —(@7-) 1.230 | 1.350
SZ-5162S #7809 w7 nokov®) | 3.630 | 3.980 |IDC-1636  |# Iy dvkhn—7on—) | 1.380 | 1.400
S7Z-5182 _ |139374=97 Y 320 360 |[DC=1637 [k Ay afukhn—@7-) 660 720
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TP—2482K |R9E 54 %9k 1110 | 1.540 |[DC—1646__ [F57 Uuohn— 1,960 | 2.130
TP—2504K  |R9E 54 %9k 870 1,040 |[DC=1647 _[& —Ly vk —(@7-) 1,190 [ 1.310
TP-2505  |[R75—%H —Foviay 290 320 |[DC=1650 [k —Ayafukhn—@7-) 1,190 [ 1.300
YH-0220 |3~ 9F7vv— 330 360 |[DC=1651__ [k —Ayafukhn—@7-) 1,030 | 1.120
YH=-0222 |4~ 9k7va— 205 230 |[DC=1652 [k —Ayafukhn—@7-) 970 1,070
YH=0236___[5~9F7vvr— 70 80 |IDC=1688 [ - {ukhn —(@7-) 1.180 | 1.300
YH=0241 [~ 9k7vv— 340 350 _|[DC=1691 [k —Ayafukhn—(@7-) 1,210 | 1.330
YH=0245 [~ 9F7vvr— 350 360 |[DC=1692 [k —Ayafukhn —(@7-) 1,240 | 1,300
YH=0248 [~ 9k7yia— 860 950 |[DC=1693 |k —Ly afukhn —(@7-) 1,210 | 1,330
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YH=0520 _ [#4hh v oy 1,200 | 1,350 [[DC=1695 [ -y ukhn—(@7-) 750 820
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YH=0525 [T 4ANJE1-40U07 300 310 ||IDC=1697 |k Ly afukhn —(@7-) 1,210 | 1,330
YH=-0527 _ |94—5—% 7 07 520 580 |IDC—-1698 |k —Ly afukhn —(@7-) 910 1,000
YH=-0530 WL e 7MME —OUsT 150 170 |DC-1699 _ |& —Iy adukhn —(a7—) 1.000 | 1,100
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DC—1132 _ |5AyF ok hn— 1.350 | 1.450 [[DC-2114  [44myF ok hn— 240 300
DC—1165 _ |54AyF ok hn— 1,140 | 1,430 [[DC=2120 _[f -y qukhn— 740 1,065
DC—1167A |540yF ok hn— 540 600 [DC-2121 _ [44oyFIoFhn— 940 1,030
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DC—-1304  |& Ly aAukhn —(a7—) 940 1,070 |[DC=2321 __|& Ny aukhn— 700 1,315
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DC-1534  |540yF ok hn— 1070 | 1.170 |IDC=2658 [k —nvAubin—Fon—) | 1.495 | 1.605
DC-1535 _ |54AyF TuF hn— 940 1,030 [[DC=2659 [ -y Avkhn—(@7-) 1,395 | 1,500
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DC—2665 |k Iy adukin—(@7-) 1,210 | 1.330 |[SP-0131  [5A 9N —ny¥oeyk 2.300 | 2.330
DC—2666 _ |F37)vohn— 1420 | 1,525 |[SP-0138  [5avrIn—ny¥oeyk 3,920 | 4620
DC—2667 |k -l adukin—(@7-) 2065 | 2215 ||SP-0140T |3~ ykn—nv¥y 1,300 | 1.450
DC—2668  |ABE)uhhn — 550 620 |[SP-0141T [~k —nvdy 1,300 | 1.450
DC—2669 |k -y adukin—(@7-) 420 430 |[YH-0374  [5~vbhn—nvdy 2.050 | 2.120
DC—2671 |k Iy adukin—@7-) 880 1.010
DC—2673 |k -y adukhn—(a7-) 1,000 | 1,09 [[(FB JYRFEL ] ERHE 784
DC—2677  |34myF Tukhn— 1090 [ 1.200 | soosse s 0 % W7 | HE
DC—-2681 _ [F357uhhn = 1,850 | 2.040 = AH T (AR | B HE (AR
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DC-5681  |F35Yvahn— 1420 | 1560 |[FB=2068 [F547x7k7 =Y 1,700 | 1,900
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